ITI Surveyor 1st Year Module 6 Theodalite

(1). How many levelling screws carry the upper plate of theodolite? | fysrsifere

HI S e # fbd dafi T E¥p 8l & 2
(A) 2screws | 2%p
(B) 3screws | 3%p
(C) 4screws | 4TPp
(D) 6screws | 6 &P

Correct Answer : B

(2). Which is instrumental error? | di<] ﬁ% P @%’?
(A) Eccentricity of vernier | aﬁmﬁs@?ﬁm

(B) Wind effect | dl I UHId

(C) Refraction effect | U UHTG

(D) Slipinscrews | %l'qg_*f@

Correct Answer : A

(3). What is used as vertical arm in index frame of theodolite instrument? |

RISIAIge IUBRN o YaAHID Wl H SH@1eR g1d & U § -1 YA o Srar
g?

(A) Index arm | ST 3TH
(B) Clipping arm | faaftiT e
(C) Lower arm | T3 3TH
(D) Upper arm | 370 3TH




Correct Answer : B

(4). What is the name of traversing instrument that the direction of lines are fixed

by linear measurement only? | W@ﬂ?mww%mﬁmﬁﬁm
YRa® a9 3§ g qa eI /2

(A) Chain traversing | ﬁq?ﬁm

(B) Compass traversing | mméaﬁh

(C) Plane table traversing | @qéﬁlﬁﬁ?ﬁﬁh
(D) Theodolite traversing | fﬂuﬁsﬁwéaﬁfw

Correct Answer : A

(5). What is the term, if the angle is measured above the horizontal line in

theodolite survey? | WW%, &Wﬁwﬁfﬂ?ﬂ@wﬁwﬁ RINSEIEIE:]
S UR HIUT Il 82

(A) Angle of deflection | fa@qur 1 oI
(B) Angle of depression | {dHIg DI HI]
(C) Angle of elevation | WWW
(D) Horizontal angle | aﬁlﬂw

Correct Answer : C

(6). What is the term, if the angle is measured below the horizontal line in

theodolite survey? | WW% &mﬁmﬁfﬁuﬁ@mﬂé‘&mﬁ RIREESEIKS
SEE IS

(A) Angle of deflection | CRLEIEL
(B) Angle of depression | 3G 1 HI0I



(C) Angle of elevation | 3 ﬂl?zc T HIU
(D) Horizontal angle | aﬁlﬁfﬁm

Correct Answer : B

(7). Which device helps in exactly centering the theodolite instruments over the

=\ NN i\ (o e O i}
station? | @I T IUHU] W W FAATSIAZE SUBRUN Dl 31h § digd B
A Heq HRATg?

(A) Levelling head | é?ﬂ%ﬂ%?s’
(B) Shifting head | W%@
(C) Lower plate | el wie

(D) Upper plate | W B Tie

Correct Answer : B

(8). What is the name of theodolite if its telescope can be revolved through 180°

in a vertical plane about its horizontal axis? | WWWWW%U%W
STl g &faeT 31ef & ATUe Udh SeaeR Wi o 180 ° & PI0T I YH Hhdll 62

(A) Transit theodolite | giﬂ}ld fﬁq\ls\lﬂlsd

(B) Non - transit theodolite | Hﬁ-‘g'r%rc’firsﬁ@ﬁ‘c’
(C) Horizontal axis theodolite | afast 31ef faaIsarse
(D) Vertical axis theodolite | FHeaieR e{&rfﬂuﬁ@ﬁw

Correct Answer : A

(9). How many methods are there to measure horizontal angle in theodolite? |

fraSiarge # &fas S &) Ao & i fhd adie §°2
(A) 2 methods | zﬁﬂ‘ﬂ?ﬁ



(B) 3 methods | 3 faferaT
(C) 4 methods | 4 fafdrar
(D) 5 methods | 5 faferr

Correct Answer : B

(10). Which angle is very useful in open traverse by theodolite such as alignment
of highways, railways etc? | FUTISIAIgE GRT G AR H ®IF 1 H 101 9gd IUTNT
& SR o, Y 3nfe &1 SR

(A) Vertical angle | TR HI0T
(B) Depression angle | 3{TIG BT
(C) Horizontal angle | aﬁlﬁw
(D) Deflection angle | faguur oo

Correct Answer : D

(11). How many level tubes are there in theodolite instruments? | m@lﬁ'ﬁ?
SUFRUN H e dael &[E 8id 82

(A) One | TP

(B) Two | &l

(C) Three | aF

(D) Four | dR

Correct Answer : B



(12). What is the name of test in theodolite instruments? | m@mmﬁ
o UYef0T BT AT T 82

(A) Collimation in azimuth | T7i=1 Gieror H Siferdw=
(B) Vertical circle index test | Afchd b d SSHY I
(C) Collimation in spire test | WRR ¢ H SifemzH
(D) Cross hair ring test | HIg T

Correct Answer : C

(13). What is the term, if rotating telescope in horizontal plane, about its vertical

axis in theodolite? | U@W@Wﬁ 3 SHaeR 31&‘[%@&‘[, RIREANEE:
oIy &1 gHIA 8T, o1 Ued 22

(A) Centering | P&UI
(B) Swing | T
(C) Transiting | ET%I'%’T



(D) Plunging | R

Correct Answer : B

(14). What is used as horizontal arm in vernier frame of theodolite instrument? |

RTSIATS e JUHRUN & iR ThH H &fcet 3TH o U H o1 TRINT 31 oiTl 82
(A) Index arm | ST 3TH

(B) Clipping arm | faaftiT e

(C) Lower arm | T3 3TH

(D) Upper arm | 370 3TH

Correct Answer : A

(15). What type of instrument is used for measuring vertical angle? | FHeaieR

DU P AT & o7 frd UBR & IUBRUT T IUTRT fohan STl 872
(A) Levelling instruments | SafeiT JUHRT

(B) Electronic theodolite | g@lﬁﬁﬁ Iﬂdlélalsa
(C) Plane table | T ¢&d

(D) Chain survey | I gdefur

Correct Answer : B

(16). What is the process of turning the telescope in vertical plane about its axis

through 180°? | 180 ° ¥ 37T X1 TR CTIG U DI SH @R & H T B B
ufhar R 8?

(A) Swing | T
(B) Centering | B&UI



(C) Transiting | EA'Il\krlléll
(D) Inverting | Q:IERIE‘I

Correct Answer : C

(17). What is the term, if the angle between the line of sight and a horizontal line

at a station in theodolite survey? | fafsifere ﬁwﬁ%@qm NIER!
3{Tth T1ge 3R T Aot 3T & ofid &7 B0 A0 g Tes §

(A) Vertical angle | SHeateR BT
(B) Depression angle | 3{TIG BT
(C) Deflection angle | faguur oo
(D) Direct angle | LRI

Correct Answer : A

(18). Which surveying instrument is used to measure the angle? | PHI0T B ATGA

& foTg fore Td&ror SUHRUT b1 IUANT foaT ST 82
(A) Theodolite | FU3fISIdTEe

(B) Chain | T

(C) Plane table | - ¢&d

(D) Tape | WoIdl

Correct Answer : A



(19). What is the name of test in theodolite instruments? | m@mmﬁ
o UYef0T BT AT T 82

OBSERVAT
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(A) Collimation in azimuth | Ta7i=T Tierur H SiferHz=
(B) Vertical circle index test | Afchd T S ST I
(C) Plate level test | e Tad URI&
(D) Cross hair ring test | HIg AT

Correct Answer : B

(20). What is the name of theodolite, if its telescope cannot be revolved through
180° in vertical plane about its horizontal axis? | fﬁq\ls\lc’il‘éd D[ HH ] %?ﬂ%
P CARBIY &Sl 3fef & U Th SR & H 180 ° & P10 Tg1 gH
Tl 82

(A) Transit theodolite | Eﬁ?m@w

(B) Non - transit theodolite | qﬁgﬁ?mm
(C) Horizontal axis theodolite | afast 31¢f FAISIage
(D) Vertical axis theodolite | SHealeR 31¢f FIISIage




Correct Answer : B



